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�������� ����� �!"#�$ $!�$���$ �!�% �� ����&'�%���"�(  !�)*+���$ �� �%*'�!�, �����-
%�!�, �����.��#�, �%����� /%� ���"'"���$( 0�� ���� �#"�)�#� �"1�!����( ���" "�� 2����%�-
��"��0����� ."%$ �� � �����!�##
� �"'#��#
� ����#���� �.*0"���$ !%"+"���3#��  !�)�#��
'�%���"�" ��#������3#� �'� 4�#�%" �"�� ��  �,��!��� ��%�#4�!" � �"'#��#�'� ����#��! 5
����!����!�##� ML � MM , ��*���!��##
1 !."��� �,��!��� �"'#��#�'� ���$ 6���� 7�/68
� ."%$ �� '�%���"�" � � �'� �����!�##
� �"'#��#
� ����#����

9%"!��"4��##�� ���� 6���� "��%������%*���$ #3:��#�!���� 4�#�%"�3#
� �����( " �/6 5
����� �%$��'� 4�#�%"�3#�'� �"'#��#�'�  ����$ ;�< � �"'#��#�, �# *�4��, B � �"'#��#
�
����#��� m = mm0, ' � m0 5 �%�  ����3#�'� �"'#��#�'� ����#�" �/6( #"�%"!��##
, ��
��� �*��0#�'� !%"+�#�$ 6����� /%� ���"'"���$( 0�� �/6 � #�%� #� ! 0"��� �%���%"#��!"(
."#��"���, '�%���"���� �0��
!"���$ �*��0#�� !%"+�#�� �/6 !����� � 6����, � *'��!�, ���-
%���3: ωωω� = −ω�m0. �%���" '�%���"�" ��)�� ! ��������� '���"'#��#�'� 2�!"��%"�

/%� ���"'"���$( 0�� 2������� �#�%4�� '�%���"�" $!�$���$ �=�%�,( " %"��%� ���#�� ."%$-

 " Q =
∫

V
σ dV �� �����* V ���"( 1"%"���%�.*���� ����#���3: σ, ���" "�� ���!�, ������%�-

�,� /%� 2��� 4�#�% �"�� C '�%���"�" ��!�" "�� � 4�#�%�� ."%$ " O, ��%� ��$��
� ! ��+��

��*0"� ;�< ��� *:+�� %" �*�-!����%�� ��#������3#� 4�#�%" �"��>
−−→
CO = Q−1

∫
V

σρρρ dV, ' � ρρρ 5

%" �*�-!����% 2����#�" dV ��#������3#� ��0�� C. �  "�3#�,?��  �$ ��%� ���##���� �0�-
�"���$( 0�� '�"!#
� 4�#�%"�3#
� ��� �#�%4�� '�%���"�" Cxyz 7� �%�"�� i, j,k 8 ��!�" ":� �
����!����!*:+��� '�"!#
�� 4�#�%"�3#
�� ��$�� ."%$ " ;�<( �%�0�� ��3 2����%���"��0����,
������%�� '�%���"�" ��!�" "�� � ��3: Cz, �"�( 0��  �$ ����!����!*:+�1 2����#��! ��#.�%"
."%$ " Σ = diag (a1, a2, a3) 7! ��$1 Cxyz 8 !
���#$���$ %"!�#��!� a1 = a2, ' �

a1 =
∫

V
σx2 dV , a2 =

∫
V

σy2 dV , a3 =
∫

V
σz2 dV .

@�*0", a1 = a2 �1!"�
!"�� ?�%���, ��"�� '�����%�0����1 =�%� 2�%"#�! 2����%���"��0����,
."+��
 ���*���!�##
1 ��*�#���! 6���� 7�@68( �%� � ����%
1 �"�"$ !")#"$  �$ �%"�����
=�%�"( �"� 4���# %�0���"$ ;A<� @�'�"�#�  "##
�( �%�!� �##
� ! ;A<(  �$ %�"�3#
1 �@6 ��-
����3 #" � �#�4* ���+" � ��!�%1#���� ��)�� �4�#�!"�3�$ !���0�#�, c = 10−11 BC� 2, "
����#4�"� 2�%"#" 2����%���"��0����, ."+��
 5 !���0�#�, ��%$ �" U = 106 �� D�� �.#"0"��(
0�� �%� 1"%"���%#�, ���+" � ��!�%1#���� 2�%"#" S = 100 � 2 ."%$ Q = cSU $!�$���$
!��3�" ."���#�, !���0�#�, ��%$ �" 10−3 ���

@����!�##
, �"'#��#
, ����#� '�%���"�" �%� ��"!�� ! !� � �*��
  !*1 ����"!�$:+�1>
�����$##�, 7! ������� Cxyz 8 ����"!�$:+�, I0, #"�%"!��##�, ! ��3 ��� Cz, � ����"!�$:-
+�, #"!� �##�'� �"'#��#�'� ����#�" IH , ��*���!��##�'� #"�"'#�0�!"#��� '�%���"�" ! �/6�
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� �%� ����)�#��( 0�� '�%���"� #"�"'#�0�!"���$ ! �/6 ! ��#�!#�� ! ��3 �!��, ��� ���-
���%�� Cz, !
%")�#��  �$ IH ."��?�� ! !� � ;�< IH = E(Bk)k, ' � E FGHIJK� @�'�"�#�
 "##
�( �%�!� �##
� ! ;�<( �"'#��#
, ����#� %�"�3#
1 �@6 �%�#��"�� .#"0�#�$ ��%$ �"
103 & 105 D · �� 3.

/%� ���"'"���$ �"�)�( 0�� '�%���"� �� �%)�� �"1�!��( !%"+":+�,�$ !��%*' ��� Cz � ��-
�" ":+�, ���!
� ����#��� �#�%4�� J.

 !" 	#$�%#$�&�'(#) %*��+,

�%"+"���3#��  !�)�#�� '�%���"�" ����� *���$ ! �%���"�3#�, ������� ���% �#"� Cξηζ,
��3 Cξ(ξξξ0) ����%�, #"�%"!��#" �� �"�"���3#�, � �%���� ! ���%�#*  !�)�#�$( ��3 Cη(ηηη0) 5
�� #�%�"�� � ��������� �%���
( ��3 Cζ(ζζζ0) 5 ! ��3 %" �*�-!����%" R 4�#�%" �"�� '�%���"�"
��#������3#� 4�#�%" 6����� ����� �!"#�� �%�!� ���$ � *0���� !%"+�#�$ �%���"�3#�, �����-
�
 ���% �#"� � *'��!�, ���%���3: ωωω0 = ω0ηηη

0, �"� 0�� "����:�#"$ *'��!"$ ���%���3 '�%���"�"
ωωω ��)�� �
�3 �%� ��"!��#" ! !� � ωωω = ωωω0 + ωωω′, ' � ωωω′ = pi + qj + rk 5 *'��!"$ ���%���3
'�%���"�" ��#������3#� �%���"�3#�, ������
 ���% �#"��

�."��#"$ �%��#�"4�$ ���, xyz � ξηζ ��%� ��$���$ � ����+3: �"�%�4
 #"�%"!�$:+�1
����#*��! αi, βi, γi 7LF�(�(�8( * �!���!�%$:+�1 %"!�#��!"�

ξξξ0 = α1i + α2j + α3k, ηηη0 = β1i + β2j + β3k, ζζζ0 = γ1i + γ2j + γ3k.

�"���"��0���"$ �� ��3 !%"+"���3#�'�  !�)�#�$ '�%���"�" ��#������3#� �'� 4�#�%" �"��
��  �,��!��� ����#��! ML � MM ��%����$ �� �1��� D,��%"-/*"���#"� �0��
!"���$ �"�)�
'�%������0����, ����#� MG, ��*���!��##
, #"��0��� �"1�!��" � ���:+�, !� 

MG = −JΩωyi + JΩωxj,

' � Ω 5 �%���4�$ #" ��3 ������%�� Cz "����:�#�, *'��!�, ���%���� �"1�!��"�
9�"!#
, ����#� ��%�#4�!
1 ��� ��#������3#� 4�#�%" �"�� '�%���"�" ��%� ��$���$ !
%"-

)�#���

ML =
∫

V
σρρρ × (v × B) dV,

' � v 5 ���%���3 2����#�"%#�'� �����" dV ��#������3#� �/6� ���: "( ��'�"�#� ;�<( �����
�%���4�� ����#�" ML #" ��� x, y, z >

MLx = mR−3[a3ωyβ3 − a1ωzβ2 − ω�(a3 − a1)β2β3],

MLy = mR−3[a1ωzβ1 − a3ωxβ3 + ω�(a3 − a1)β1β3],

MLz = mR−3a1(ωxβ2 − ωyβ1).

7���8

��$ ����#�" MM ����� !
%")�#�� ;�<

MM = (I0 + IH) × B, 7���8

' �  �$ �%�#$��, �� ��� �/6 B = mR−3ηηη0.
��#"��0����� *%"!#�#�$ D,��%"( ����
!":+�� !%"+"���3#��  !�)�#�� '�%���"�"( #" ��-

#�!"#�� 7���8 � 7���8 ���:� !� 

ω̇x = d[a3ωyβ3−a1ωzβ2−ω�(a3−a1)β2β3] −dIzβ2 −eβ2β3 −gωy,

ω̇y = d[a1ωzβ1−a3ωxβ3+ω�(a3−a1)β1β3] +dIzβ1 +eβ1β3 +gωx,

ω̇z = da1(ωxβ2 − ωyβ1),
7���8

' � d = m/(R3A), Iz = I0 + IHz, e = AEd2, g = JΩ/A, A 5 '�"!#
, 4�#�%"�3#
, ����#�
�#�%4�� '�%���"�"� ���"!�$$ ��#��"��0����� *%"!#�#�$ /*"���#"

α̇1 + ωyα3 − ωzα2 = −ω0γ1,

β̇1 + ωyβ3 − ωzβ2 = 0,
(x→y→z
1→2→3

)
γ̇1 + ωyγ3 − ωzγ2 = ω0α1,

7��A8
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���*0"�� ."��#*�*: ������*  �==�%�#4�"�3#
1 *%"!#�#�, !%"+"���3#�'�  !�)�#�$ '�%�-
��"�" ��#������3#� 4�#�%" �"���

 -" ��.�/� ��$�0.#+/ � 1*+*2���) .#��*��'�)

@�����" 7���8( 7��A8  ��*��"�� �%� #��%�!�"�3#
1 ��%!
1 �#��'%"�">

ω2
x + ω2

y + ω2
z − [dω�(a3 − a1) + e]β2

3 − 2dIzβ3 = h1, 7���8

ωxβ1 + ωyβ2 + ωzβ3 +
d

2
(a1 − a3)β2

3 + gβ3 = h2, 7���8

ωz + da1β3 = h3. 7���8

�" ��#�!"#�� ���%��
 � ����� #�� �#�)����� M���� #"��0�� 2��1 �%�1 �#��'%"��! �
'�����%�0����'� *���!�$

β2
1 + β2

2 + β2
3 = 1 7��A8

��.!��$�� �!���� %�?�#�� ." "0� � �!" %"�*%"�� �. ������
 7���8( 7��A8 ��� *��( 0�� �����
����� ��%�"#�#�#�� !%"+�#�� '�%���"�"( �%� ����%�� ��3 ������%�� Cz ��%��# ��*�$%#" �
��������� �%���
 7 β3 = ±1 8� �. �#��'%"�"

p2 + q2 + r2 + [d(ω0 − ω�)(a3 − a1) − e]β2
3 − 2(ω0g + dIz)β3 = GHIJK,

���*0�##�'� #" ��#�!"#�� 7���8 � 7���8 � �%���%".�!"##�'� � !� *

p2 + q2 + r2 + [d(ω0 − ω�)(a1 − a3) + e ± (dIz + ω0g)](α2
3 + γ2

3) ± (dIz + ω0g)Δ2 = GHIJK

� ����+3: �� ��"#�!�� β3 = ±(1−Δ), #" ��#�!"#�� ���%��
 N$�*#�!" ��� *��( 0�� ����)�-
#�� β3 = ±1 ��� Cz *���,0�!� �%� !
���#�#�� *���!�,

d(a1 − a3)(ω0 − ω�) + e ± (dIz + ω0g) > 0, ±(dIz + ω0g) > 0.

��$ * ����!" ����� �!"#�$ ������
 7���8&7��A8 !!� �� ! %"�����%�#�� *'�
 D,��%" ϕ,ψ, ϑ
� ��%�, �� � #�� �� =�%�*�"�

ωx = p + ω0β1, ωy = q + ω0β2, ωz = r + ω0β3, β1 = sinψ cos θ,

β2 = cos ϕ cos ψ + sin ϕ sin ψ sin θ, β3 = − sinϕ cos ψ + cos ϕ sin ψ sin θ,

p = ϑ̇ cos ϕ + ψ̇ sin ϑ sin ϕ, q = −ϑ̇ sin ϕ + ψ̇ sin ϑ cos ϕ, r = ϕ̇ + ψ̇ cos ϑ.

���.#"0"$ ψ̇1 = ψ̇ + ω0, �%���%".*�� �#��'%"�
 7���8&7��A8 � !� *

ϕ̇2 + ϑ̇2 + ψ̇2
1 + 2ϕ̇ψ̇1 cos ϑ − 2dIz cos ϑ + [dω�(a1 − a3) − e] cos2 ϑ = h1,

ψ̇1 + ϕ̇ cos ϑ +
d

2
(a1 − a3) cos2 ϑ + g cos ϑ = h2,

ϕ̇ + (ψ̇1 + da1) cos ϑ = h3.

7���8

 3" �''+��*�#��� ���2���) 0�.*'$#$#

�����3.*$ ������* 7���8( ����� *�� 1"%"���%  !�)�#�$ ��� Cz 5 ��� ������%�� '�%�-
��"�"� ��$ ���*0�#�$  �==�%�#4�"�3#
1 *%"!#�#�,( ����
!":+�1 2��  !�)�#��( !!� �� !
%"�����%�#�� #�!*: ��%���##*: u = cos ϑ (  �$ ����%�, u̇ = − sin ϑ ϑ̇. �" ��#�!"#�� 7���8
���*0�� ������*  �==�%�#4�"�3#
1 *%"!#�#�,

u̇ = ±
√

F (u), ψ̇ =
Φ(u)
1 − u2

, 7���8
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' � F (u) = p0u
4 +p1u

3 +p2u
2 +p3u+a4, Φ(u) = q0u

2 + q1u+ q2 5 ����#��
 � �����$##
��
��2==�4��#�"��(

p0 = d2a2
1 −

d2

4
(a1 + a3)2 + dω�(a1 − a3) − e,

p1 = h3d(a3 − a1) − 2dIz + gd(a1 + a3),

p2 = −[d2a2
1 + h1 + h2d(a1 + a3) + dω�(a1 − a3) − e + g2 + 2gh3],

p3 = 2h3(da2
1 + h2) + 2dIz + 2gh2,

p4 = h1 − h2
2 − h2

3, q0 =
d

2
(a1 + a3) + ω0, q1 = −g − h3, q2 = h2 − ω0.

7���8

@�����" 7���8 ��)�� �
�3 �%��#��'%�%�!"#" �%� #"��0�� #���1� ���, �#=�%�"4�� � ��%-
#$1 ����#���! F (u) � Φ(u) � /%�#��"$ !� !#��"#��( 0��

F (±1) = −
[
d

2
(a1 + a3) + h2 ∓ (h3 + g)

]2

� 0

� *0��
!"$( 0�� %�"�3#��*  !�)�#�: '�%���"�" ����!����!*:� ��?3 �� .#"0�#�$ ��%���##�,
u �. �#��%!"�" [−1; 1],  �$ ����%
1 F (u) � 0, #��%* #� ."�����3( 0�� ����#�� F (u)  ��)�#
����3 ! *�"."##�� �#��%!"�� �� ��#3?�, ��%�  !" !�+���!�##
1 ��%#$�

O"�����%�� �#"0"�" ��*0",( ��' " ����#�� F (u) �����  !" !�+���!�##
1 ��%#$ u1 � u2

7−1 < u2 < u1 < 1 8 �  !" ��������#�-���%$)�##
1 ��%#$ u3,4 = v ± iw. /�%�, �� ! ��%!��
*%"!#�#�� 7���8 � #�!�, ��%���##�, ν �� =�%�*�"� ;A<

u =
u1 + u2

2
− u1 − u2

2
n − cos ν

1 − n cos ν
, tg2 ν

2
=

cos σ1

cos σ2

u1 − u

u − u2
,

' � tg σ1 =
u1 − v

w
, tg σ2 =

u2 − v

w
, n = tg

σ1 − σ2

2
tg

σ1 + σ2

2
, σ1,2 <

π

2
.

E�' " t = λ

∫ ν

ν0

dν√
1 − k̃2 sin2 ν

( ' � k̃2 = sin2 σ1 − σ2

2
( λ = −

√
cos σ1 cos σ2

w
� ���: "

sin ν = sn((t + t0)/λ, k̃) ( cos ν = cn((t + t0)/λ, k̃) � � %�.*�3�"�� �����

u =
u1 + u2

2
− u1 − u2

2
n − cn((t + t0)/λ, k̃)

1 − n cn((t + t0)/λ, k̃)
. 7���8

�. 7��8 ��� *��( 0�� ��%���##"$ u $!�$���$ T & ��%�� �0����, =*#�4��, !%���#�( ' �

T = 4λK(k̃2), " K(k̃2) 5 ���#
, 2������0����, �#��'%"� �-'� %� "� �"1�) �#�� ��%���##
1
ψ(t) � ϕ(t) �!� ���$ � !
0����#�: �!" %"�*% #" ��#�!"#�� =�%�*� 7���8( 7���8�

@"�����$���3#
, �#��%�� �%� ��"!�$�� �%�!� �#�� #" ��#�!� ������
 7���8 �"0���!�##�'�
����� �!"#�$ 1"%"���%"  !�)�#�$ ��� ������%�� '�%���"�"� ��$ 2��'� !!� �� ! %"�����%�#��
�=�%* � �#�0#�'� %" �*�" � 4�#�%�� ! ��0�� C. �".�!�� ��%���0�#�� �=�%
 � ��������3:
�%���
 2�!"��%��( " ��0�� ��%���0�#�$ ��� Cη �� �=�%�, 5 ���:�"�� 7��0�� O1 � O2 8
7%��� �8�

/%� !%"+�#�� '�%���"�" ��0�" P ��%���0�#�$ ��� Cz �� �=�%�,( #".
!"��"$ "������(
�* �� ����
!"�3 #" �=�%� #�����%*: �%�!*: L. D�" �%�!"$ �* �� %"����"'"�3�$ ��) * �"-
%"����$�� �=�%
( ����!����!*:+��� ��%#$� u1 � u2, ������3�* u2 � cos ϑ � u1. 6" !%��$
T/2 ��0�" P ��%�1� �� �� �%�!�, L � � #�, �"%"����� #"  %*'*:� /�2���* �%�!"$ L ������-
%�0#" ��#������3#� �:��'� �. ��%� �"#"�3#
1 ��0�#�, �=�%
( �%�!� �##
1 0�%�. �%",#��
!�%1#�� (u = u1) ��� �%",#�� #�)#�� (u = u2) ��0�� �%�!�,� /���)�#�� �%��.!��3#�, ��0��
�%�!�, L #" �=�%� ��)�� �
�3 � #�.#"0#� ��%� ���#� ." "#��� !���0�# u � ψ. E�' " #"
��#�!"#�� 7���8  �==�%�#4�"�3#�� *%"!#�#�� �%�!�, L �* �� ����3 !� 

du

dψ
=

±
√

F (u)(1 − u2)
Φ(u)

. 7��A8
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/*��3 α 5 *'�� ��) * ��%� �"#�� � �"�"���3#�, � �%�!�, L, �%�!� �##
�� 0�%�. ��0�*
P 7%��� �8�

�" ��#�!"#�� 7��A8 #��%* #� ���*0��3 %"!�#��!� tg α =
Φ(u)

±
√

F (u)
, �. ����%�'� ��� *��( 0��

���� ��%�#3 u1 ��� u2 ����#��" F (u) #� $!�$���$ ��%#�� ����#��" Φ(u), �� tg α = ∞ �%�
u = u1 ��� �%� u = u2, � ! 2��� ��*0"� �%�!"$ L �"�"���$ ����!����!*:+�, �"%"������ ����
)� u1 ��� u2 $!�$���$ ��%#�� Φ(u), �� tg α = 0 � #" �"%"�����(  �$ ����%�, 2�� �����
�����( �%�!"$ L ����� ��0�� !�.!%"�"�

� ."!�������� �� 1"%"���%" !."��#�'� %"�����)�#�$ �����$##
1 u1 � u2 � !�+���!�#-
#
1 ��%#�, ����#��" Φ(u) !�.��)#
 ��� *:+�� ���3 ��#�!#
1 !"%�"#��!( ��%� ��$:+�1
�"0���!�##� %".��0#
� !�.��)#
� !� 
 7�&P8 �%"����%�, "����" ��� ������%�� '�%���"�"
7%��� �8>

�8 ����#�� Φ(u) #� ����� !�+���!�##
1 ��%#�, ! �#��%!"�� [u2;u1]. � 2��� ��*0"� ψ̇ �= 0 �

ψ̇ �= ∞. /�2���* ψ̇ ��1%"#$�� .#"� � ��3 Cz  !�)���$ !��%*' ��� Cη !��' " ! � #�� � ���
)� #"�%"!��#��Q

�8 � �# �. ��%#�, ����#��" Φ(u) %"!�# u1 ��� u2, "  %*'�, #� �� �%)���$ ! �#��%!"�� [u2;u1].
D�� �.#"0"��( 0�� ψ̇, ��1%"#$$ .#"�( ��)�� ��%"���3�$ ! #��3 #" � #�, �. �"%"�����, u1

��� u2 7#"�%���%( #" �"%"�����( ����!����!*:+�, ��%#: u1, �"� ���"."#� #" %��� �8 � #"
#�, �%�!"$ L �* �� ����3 ��0�� !�.!%"�"Q

�8 � �# �. ��%#�, ����#��" Φ(u) #"1� ���$ ! �#��%!"�� (u2;u1), "  %*'�, 5 !#� �#��%!"�"

[u2;u1]. D�� �.#"0"��( 0�� ψ̇ ��%"+"���$ ! #��3 � ��#$�� .#"�� @�� �!"���3#�( �%�!"$ L
�* �� ����3 ������ @%� � �%�!
1 2��'� ���" ��)#� !
 ����3 �%� %".#�!� #���� 7"-!8( ��-
��!����!*:+�� %".��0#��* �� 1"%"���%*  !�)�#�: ��� Cz � �"%�"#�
 "8 � !8 ����0":��$
#"�%"!��#���  !�)�#�$ ��� Cz 7ψ(t) → +∞ ��� ψ(t) → −∞ �%� t → +∞ 8( " !"%�-
"#� �8 $!�$���$ �%���)*��0#
� ��) * #��� � ����!����!*�� ���* ��*0":( ��' " ��%�� 

=*#�4�, u(t) � ψ(t) ��!�" ":�Q

A8 � �# �. ��%#�, ����#��" Φ(u) %"!�# u1 ��� u2 7#"�%���% u1 8( "  %*'�, #"1� ���$ !

�#��%!"�� (u2;u1). � 2��� ��*0"� ψ̇  !") 
 ��%"+"���$ ! #��3 � ��#$�� .#"�( �%�0�� #"
�"%"�����( ����!����!*:+�, u = u1, �%�!"$ L ����� ��0�� !�.!%"�"� @%� � �%�!
1 2��'�
���"( �"� � ! �%� 
 *+�� ��*0"�( ��)#� !
 ����3 �%� %".#�!� #���� 7"&!8( ����!����!*:-
+�� %".��0#��* �� 1"%"���%*  !�)�#�: ��� Cz;

�8 ��" ��%#$ ����#��" Φ(u) #"1� $��$ ! �#��%!"�� [u2;u1] � %".��0#
 ��) * ����,� � 2���

��*0"�( �"� � ! �%� 
 *+��( ψ̇  !") 
 ��%"+"���$ ! #��3( � ��'*� �
�3 !
 ���#
 �%� %".-
#�!� #���� �%"����%�, 7"&!8� �"%�"#� �8 ����!����!*�� ���* ��*0":( ��' " ��%�� =*#�4��
u(t) !  !" %"." ���3?� ��%�� " =*#�4�� ψ(t);

�8 ����#�� Φ(u) �����  !*�%"�#
, ��%�#3 u∗, #"1� $+�,�$ ! �#��%!"�� (u2;u1). � 2��� ��*-

0"� ψ̇ ��1%"#$�� .#"�( ��%"+"$�3 ! #��3 ��?3 �%� u = u∗, " �%�!"$ L ! ��0�� ��%���0�#�$
� �"%"����3: u = u∗ �"�"���$ ��%� �"#"( �%�1� $+�'� 0�%�. 2�* ��0�*Q

P8 u1 � u2 $!�$:��$ ��%#$�� ����#��" Φ(u). � 2��� ��*0"� �%�!"$ L ����� ��0�� !�.!%"�"
#" �"%"����$1 u = u1 � u = u2.
/�%!
� �%� ���" ����,��! �%�!
1( �.��%")�##
1 #" %��� �( "#"��'�0#
 ���( ����%
� ���-

:� ����� ! ��"���0����� ��*0"� N"'%"#)" !%"+�#�$ �$)���'� �!�% �'� ���" !��%*' #���-
 !�)#�, ��0���




A ���� E�1�#�!
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� �
�� �

��'" 3" O".��0#
� ���
 �%"����%�, "����" ��� ������%�� '�%���"�"

@�� *�� �������3( 0�� ���� F (u) ����� �%"�#
, ��%�#3 ! �#��%!"�� (−1; 1), �� '�%���"�
! 2��� ��*0"� ��!�%?"�� %�'*�$%#*: �%�4����: !��%*' ��� Cη, " �%�!"$ L !
%�) "���$ !
��%*)#���3�

O"�����%�� ����%3 ��� ��*0",( ��' " ����#�� F (u) ����� 0��
%� !�+���!�##
1 ��%#$
ui (i = 1, 4). /*��3 u1 < −1 < u2 < u3 < 1 < u4. E�' "  �$  ��*����
1 .#"0�#�, u �* *� !
-
���#$�3�$ #�%"!�#��!" u2 � u � u3. /%� ���"'"$( 0�� u = u2 �%� t = 0 72�� �%� ����)�#��
#� *�"�$�� ��+#����8( �. 7���8 ���*0��

√
p0t =

u∫
u2

du√
(u − u1)(u − u2)(u − u3)(u − u4)

.
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� %�.*�3�"�� ��%�1� " � #�!�, ��%���##�, ν �� =�%�*��

u =
u2(u3 − u1) − u1(u3 − u2)ν2

u3 − u1 − (u3 − u2)ν2
,

�* �� ����3

κt =

u(ν)∫
0

dν√
(1 − ν2)(1 − k2ν2)

, 7���8

' �

κ =
1
2

√
p0(u3 − u1)(u4 − u2), k2 =

(u4 − u1)(u3 − u2)
(u4 − u2)(u3 − u1)

< 1.

�" ��#�!"#�� 7���8 ���*0�� ν = sn(κt, k2). /�2���*

u =
u2(u3 − u1) − u1(u3 − u2) sn2(κt, k2)

u3 − u1 − (u3 − u2) sn2(κt, k2)
. 7���8

�. 7���8 ��� *��( 0�� ��%���##"$ u $!�$���$ T 5 ��%�� �0����, =*#�4��, !%���#�( ' �

T =
2
κ

K(k2), K(k2) =

π/2∫
0

dx√
1 − k2 sin2 x

.

�"��� ��)#� #",�� =*#�4�� ψ(t) � ϕ(t), !
0����! ����!����!*:+�� �!" %"�*%
� E%"����-
%�� "����" ��� ������%�� '�%���"�" ! 2��� ��*0"� %"����"'":��$ #" �=�%� ��) * �"%"���-
�$��( ����!����!*:+��� ��%#$� u2 � u3, � �"0���!�##� ��!�" ":� � �%"����%�$��( �.��%"-
)�##
�� #" %��� ��

 4" �.���+,�/� &#'$�/� '+5&#�

O"�����%�� �%� ��3#
� ��*0"�( ����!����!*:+�� ��%"+�#�: ! #��3 � #�'� �. !#�?#�1
����#��! ML ��� MM .

���� MM = 0, 0�� ����!����!*�� ��*0": I0 = 0, IH = 0, �� �"%"���%
 Iz � e ! =�%�*�"1
7���8 ��%"+":��$ ! #��3� /%� 2��� ��2==�4��#�
 ����#��" F (u) �%���%��!":� ��?3 ����-
0���!�##�� �.��#�#��( #� �%�!� $ � �"0���!�##
� �.��#�#�$� ! ��%*��*%� *%"!#�#�, 7���8(
����
!":+�1  !�)�#�� ��� ������%�� '�%���"�"�

���� ML = 0, 0�� ����!����!*�� ��*0": a1 = a3 = 0, �� ���*"4�$ ��)�� �"0���!�##� �.��-
#��3�$� � 2��� ��*0"� �%�$!�$���$ �%�#4���"�3#�� .#"0�#�� *0��" #"�"'#�0�!"#�$ '�%���"�"
! �/6� ��,��!����3#�( ���� #� �%�#��%�'"�3 #"�"'#�0�!"#��� '�%���"�" ! �/6( �� p0 �= 0,
F (u) ���"���$ ����#���� 0��!�%��, �����#�( " �%"����%�� "����" ��� ������%�� '�%���"�"
�"0���!�##� ��1%"#$:� !� ( ���"."##
, #" %��� �� ���� )� �0��"�3 I0 �= 0, #� �%�#��%�03
#"�"'#�0�!"#��� '�%���"�" ! �/6( �� �� ����)��3 IH = 0, �� e = 0, �#��'%"�
 7���8&7���8
����!����!�##� �%��*� !� 

ω2
x + ω2

y + ω2
z − 2dIzβ3 = h1, 7A��8

ωxβ1 + ωyβ2 + ωzβ3 + gβ3 = h2, 7A��8

ωz = h3. 7A��8

" ����#�� F (u) !
%�) "���$ ! ����#�� �%��3�, �����#� ! ���* %"!�#��!" p0 = 0. � 2���
��*0"�( �"� �.!���#� ;�<( u(t) $!�$���$ T -��%�� �0����, =*#�4��, !%���#� !� " u = u1 +

(u2 − u1) sn2

[
1
2

√
p1(u3 − u1)(t − t0), k

]
, ' � T = 4

K(k)√
p1(u3 − u1)

, k2 =
u2 − u1

u3 − u1
Q u1, u2, u3 5

��%#� ����#��" F (u), �%�0�� −1 < u1 < u2 < 1, |u3| > 1, K(k) 5 ���#
, 2������0����,
�#��'%"� �-'� %� "�

6"�����( 0�� "#"��'�0#�� !
%�) �#�� ����#��" F (u) �%� e = 0 �%���1� �� � ! ��*0"�(
��' " ML �= 0, #� a1 = a3. E"�"$ ���*"4�$ ����� �����( #"�%���%(  �$ �@6 �� �=�%�0�����
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 7���8( 7���8 �%���%".*:��$ �
!� * 7A��8( 7A��8( " �#��'%"� 7���8 ���"���$ ��. �.��#�#�$�

��$ !
$�#�#�$ %".��0�$ ��) * 2����  !*�$ ��*0"$�� �%���%".*�� �#��'%"� 7A��8 #" ��-
#�!"#�� 7���8 � !� *

ω2
x + ω2

y + (ωz +
Iz

a1
)2 = h2

∗, 7A�A8

' � h2
∗ = h1 +2

Iz

a1
h3 +(

Iz

a1
)2. �!� �� ! %"�����%�#�� !����% ωωωG = ωxi+ωyj+(ωz +g)k. �. 7A�A8

��� *��( 0�� !� !�� !%��$  !�)�#�$ '�%���"�" ��#�4 !����%" ωωωG ���"���$ #" �=�%� � 4�#�%�� !

��0�� (0, 0, g− Iz

a1
) � %" �*��� h∗. �#��'%"� 7A��8( �.#"0":+�, �����$#��!� �%���4�� !����%"

ωωωG #" #�%�"�3 � ��������� �%���
( ��)#� %"���"�%�!"�3 �"� *%"!#�#�� ���������( �"%"�-
���3#�, ��������� �%���
 '�%���"�"� @�� �!"���3#�( ! ��*0"� a1 = a3 !����% ωωωG ����
!"��
�%*'�!�, 7#� #� �%$��,8 ��#*�( #"�%"!�$:+�, ����%�'� $!�$���$ ��%*)#���3 7A��8( 7A�A8�

@�*0", a1 = a3 = 0 ����0"���$ ���( 0�� !����% ωωωG, �.��#$$�3 �� !���0�#�( ��1%"#$��
#��.��##�, #� ���3�� �!�: �%���4�: #" #�%�"�3 � ��������� �%���
 7�#��'%"� 7A��88( #�
� �%���4�: #" ��3 ������%�� '�%���"�" 7�#��'%"� 7A��88�

&�!&'( )!*+�,*-�.
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OPH TKTHR [HKS `IXP K RIQI[ VU[a VHKRILQ K QaRU� TUMMHMMILQ KL HIQHL JKQLHXIY JUJHLX KL[ HbZITTH[ `IXP
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YUL[IXIULM KL[ XPHRHWURH XPH MUSZXIUL UW XPH TRUVSHJ JKa VH RH[ZYH[ XU XPH bZK[RKXZRHM� OPH QHUJHXRIY
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